dvigoud

174

PROSTAR SCREW KITS

¥

vy

oz====a

I —

PAN HEAD

EXTENDER BUSHINGS

FLAT HEAD

)1
<

PLASTIC ADAPTER BUSHINGS

DOG BONES

LARGE / SMALL SLIDE

SCWA-6 CONCRETE ANCHORS

BUSHINGS

ProStar # SCW1001

SCREW KIT: 10x3/4 Flat Head
Phillips (2), 10x1-1/4 Flat Head

Phillips (2); FOR LPSAVWRXxxX,
10AVRxxx

ProStar # SCW1002

SCREW KIT: 10x3/4 Flat
Head Phillips (16), Dog Bone

Supports (4); FOR 32CDFLFRxxx,
32CDAVFRxxx, 32CDPHFRxxx

ProStar # SCW1003
SCREW KIT: 10x1-3/4 Flat

Head Phillips (16); FOR
WAV18WRxxx, P18xxx

ProStar # SCW1006

SCREW KIT: 10x1 Flat Head Phillips
(30), 10x1/4 Flat Head Phillips (8);

FOR 32CDPHVxxx

ProStar # SCW1007

SCREW KIT: 10x1 Flat Head
Phillips (30), 10x1-1/4 Pan Head

Phillips (8); FOR 32CDPHFGxxx,
B32CDFLFGxxx, 32CDAVFGxxx

ProStar # SCW1008
SCREW KIT: 10x1-3/4 Flat Head

Phillips (4); FOR WAV9WRXxxx,
WAV12WRxxx

ProStar # SCW1009
SCREW KIT: 10x3/4 Flat Head

Phillips (2); FOR GDDxxx, JBRxxX,
JBSxxx, HVCxxx

ProStar # SCW1010

SCREW KIT: 10x1 Flat Head Phillips
(4), 10-24x1-1/4

Flat Head Phillips (4), 10x1-1/2

Flat Head Phillips (4);

FOR ROMFxxx, R12MFxxx

ProStar # SCW1012

SCREW KIT: 10x1-1/4 Pan Head
Phillips (8), 10x3/4 Flat Head Phillips

(8), Dog Bone Supports (4); FOR
32CDLTFRxxx

ProStar # SCW1013

SGREW KIT: 10x1 Flat Head Phillips
(30), 10x1-1/4 Flat Head Phillips (8);

FOR 32CDAVVxxx, 32CDFLVxxx

ProStar

ProStar # SCW1014

SCREW KIT: 10x1-1/4 Pan Head
Phillips (8), 10x1 Flat Head Phillips

(30); FOR 32CDLTVxxx

ProStar # SCW1016

SCREW KIT: 8-32x1-1/4
Flat Head Phillips (16), 10x3/4

Flat Head Phillips (24); FOR
SUN18HPHxxx, RSUN18HPHxxx

ProStar # SCW1017
SCREW KIT: 12x1-3/4 Phillips Flat

Head 316SS Screws (14); FOR
SKRFL12xxx

ProStar # SCW1018

SCREW KIT: 8-32x1-1/4 Flat Head
Phillips (16), 10x1 Flat Head Phillips
(16), 10-24x1-1/4 Flat Head Phillips
(16), 10x3/4 Flat Head Phillips (24);

FOR RSUN18HPHRxxx

ProStar # SCW1019
SCREW KIT: 10-32x3/4 Flat Head
Phillips (10); FOR FCxxx

ProStar # SCW1020

SCREW KIT: SCWA-6 Concrete
Anchors (8), 10x3/4 Flat Head Phillips

(8), 10x1 Pan Head Phillips (10); FOR
32PDxxx

ProStar # SCW1021
SCREW KIT: 10x3/4 Flat Head
Phillips (16); FOR WAV24xxx, 24xxx

ProStar # SCW1023

SCREW KIT: 10-32x1 Pan Head
Phillips (4), 10x1 Flat Head Phillips
(4), 10x1-1/2 Flat Head Phillips (4), 10-
24x1-1/4 Flat Head Phillips (4), 10x3/4

Flat Head Phillips (4); FOR 1216xxx,
914xxx

ProStar # SCW1024
SCREW KIT: 12x1-3/4 Flat Head

Phillips (12); FOR SKRVFL3Nxxx
and SKRFFL3Nxxx

ProStar # SCW1025

SCREW KIT: 10x3/4 Pan Head
Phillips (4), 10-32x5/8 Flat Head

Phillips (8); FOR ATORCFR2xxx

ProStar # SCW1026

SCREW KIT: 8x2-1/2 Flat Head
Phillips (4), Extender Bushings (4);

FOR RNDxxx

ProStar # SCW1027
SCREW KIT: 8x1-1/4 Flat Head
Phillips (1); FOR 4DIVxxx

ProStar # SCW1029
SCREW KIT: 8-32x1-1/4 Flat Head
Phillips (4); FOR 6HPHAxxx

ProStar # SCW1030
SCREW KIT: 8-32x1/2 Flat Head
Phillips (3); FOR 4HPxxx

ProStar # SCW1031
SCREW KIT: 10-32x5/8 Pan Head
Phillips (4); FOR P24xxx

ProStar # SCW1032
SCREW KIT: 1/4" Concrete Anchors
(3), Large Slide (2), Small Slide (2),
10-32 x 5/8 Flat Head Phillips (4),
10-32 x 3/4 Pan Head Phillips (4),
10-32 x 5/16 Pan Head Phillips (2),
10x1 Pan Head Phillips (3), 8-32 x
3/4 Pan Head Phillips (2), 10-24x7/8
Pan Head Phillips (2), 10x3/4

Pan Head Phillips (2), 8x1 Pan
Head Phillips (2), 8x3/4 Pan Head
Phillips (2); FOR A1TORCFRxxx,
A10RCFRxxx-V

ProStar # SCW1035

SCREW KIT: 8x5/8 Pan Head Phillips
(2), 10x1 Flat Head Phillips (2), 10x3/4
Flat Head Phillips (2), Plastic Adapter
Bushings (2), 10-24x1/2 Flat Head

Phillips (2); FOR R8MFxxx

ProStar # SCW1042

SCREW KIT: 10x3/4 Flat Head
Phillips 316 SS Screws (4);

FOR 9MFxxx and 12MFxxx

ProStar # SCW1043

SCREW KIT: 10x1 Flat Head Phillips
(30), 10x3/4 Pan Head Phillips (8);

FOR 32CDLTFGxxx

ProStar # SCW1045

SCREW KIT: 10x3/4 Flat Head
Phillips (4), 10x1-1/4 Flat Head

Phillips (2); FOR A8Rxxx

ProStar # SCW1046
SCREW KIT: 10x3/4 Flat

Head Phillips (8); FOR PS109,
32CDPHxxx, 32CDFLxxXx,
32CDAVxxx

ProStar # SCW1047
SCREW KIT: 10x1 Flat Head Philips
(4); FOR 8MFxxx, 10MFxxx

ProStar # SCW1048
SCREW KIT: 10x3/4 Flat Head
Phillips (16); FOR 18MFxxx

ProStar # SCW1050

SCREW KIT: 10x1 Pan Head Square
Drive (50), 10x1 Plastic Anchor (50),

Standard Clip (50); FOR TBAR12

ProStar # SCW1051
SCGREW KIT: 10x1-3/4 Flat Head
Phillips, 10x1-1/4 Pan Head Phillips
FOR 10LTxxx

ProStar # SCW1052

SCGREW KIT: 8 x 1/2" Flat Head
Phillips, Qty 4, 9" x 18" Suction
Outlet Cover, Qty 2, 8 x 1/2" Pan
Head Phillips, Qty 8 FOR 1836xxx
(Qty Neede 2) and 1836Exxx (Qty
Needed 1)

ProStar # SCW1053

SCREW KIT: 10-32 Brass Concrete
Anchor, Qty 4, 10-32 x 3/4" Flat
Head Phillips, Qty 8, 10-32 x 1-1/4”
Pan Head Phillips, Qty 4 FOR
R1836xxx (Qty Needed 2) and
R1836Exxx (Qty Needed 1).



